Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tracto	or, 85 P	TO HP, 4WD			CONTRACT NO.:	H-19-245H	DATE OPENED: 1/23/2019	
					FOB:	Pine Bluff, Barling, Russellville,	PAGE: 1 of 10	
DELIVE	RY:	Within 150 d	ays after award		. 32.	and Paragould, AR	17.02.	
	Cox In	nplement						
	P.O. B							
VENDOR:	Hoxie,	AR 72433						
		Cox 870-886-2						
		ox@coximple						
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES	
1.	14	37,337.36	522,723.04	MASSEY FERGUSON	4710	8/30/2019	11/1/2019	
		TOTAL:	522,723.04					
			·				CARD: 01-23	
TENT	ΓΑΤΙVΕ	AWARD BY:		Purchasing Comn	nittee	DATE: 2/25/2019		
		ITEM(S):		Complete Bio				
	Δ۱۸	/ARDED TO:		Cox Implement (3/1)		_		
	, , , , ,			OOK IMPIOINONE (O/ 1/	-, ,	<u> </u>		

Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tracto	or, 85 P	TO HP, 4WD			CONTRACT NO.:	H-19-245H	DATE OPENED: 1/23/2019
					FOB:	Pine Bluff, Barling, Russellville,	PAGE: 2 of 10
DELIVER	RY:	Within 150 d	ays after award	_		and Paragould, AR	
VENDOR:	Midwes P.O. B Green Justin ' jenwils	st Equipment ox 182 Forest, AR 72 Wilson 870-4 on@midwest	Rental & Sales 2638 38-4328 -equip.com				
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	14	39,000.00	546,000.00	MASSEY FERGUSON	MF4710	150 Days ARO	90 Days after Award
		TOTAL:	546,000.00				
							CARD: 01-23
TENTATIVE AWARD BY:						DATE:	
		ITEM(S):				_	
	AW	ARDED TO:				_	

Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tracto	or, 85 P	TO HP, 4WD			CONTRACT NO.:	H-19-245H	DATE OPENED: 1/23/2019	
-					FOD.	Discoult W. Destine Description	DAGE 0.140	
DELIVE	DV:	Within 150 d	ays after award		FOB:	Pine Bluff, Barling, Russellville, and Paragould, AR	PAGE: 3 of 10	
DELIVE	Rrunos	Powersports	ays aner awaru			aliu Falagoulu, AK		
		J Patton Rd	S LLO					
VENDOR:		AR 72023						
		n Pruss 501-6	305-1210					
		atv@gmail.co						
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES	
1.	14	39,400.00	551,600.00	MASSEY FERGUSON	4710	5/24/2019	12/31/2019	
1.	14	39,400.00	551,600.00	WASSET FERGUSON	4710	3/24/2019	12/31/2019	
		TOTAL:	551,600.00				CARD: 01-23	
							CARD: <u>01-23</u>	
TENT	ΓΑΤΙVΕ	AWARD BY:				_ DATE:		
		ITEM(S):				_		
	Δ۱۸	ARDED TO:				_		
	, , , , ,	,				_		

Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tracto	or, 85 P	TO HP, 4WD			CONTRACT NO.:	H-19-245H	DATE OPENED: 1/23/2019
					_		
					FOB:	Pine Bluff, Barling, Russellville,	PAGE: 4 of 10
DELIVE	RY:	Within 150 da	ays after award			and Paragould, AR	
		Equipment					
		South Zero					
VENDOR:		mith, AR 7290					
		w Webb 918-					
		<u>@pkequipme</u>					
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	14	39,495.00	552,930.00	JOHN DEERE	5100M	6/21/2019	10/31/2019
	<u>I</u>	TOTAL:	552,930.00		<u> </u>	<u> </u>	
		TOTAL.	552,950.00				CARD: 01-23
TENT	ΓΑΤΙΥΕ	AWARD BY:				DATE:	
	۸۱۸					_	
	ΑV	/ARDED TO:				_	

Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tracto	or, 85 P	TO HP, 4WD			CONTRACT NO.:	H-19-245H	DATE OPENED: 1/23/2019
					-		
					FOB:	Pine Bluff, Barling, Russellville,	PAGE: 5 of 10
DELIVER			ays after award		1	and Paragould, AR	
		way Equipme	nt Inc.				
VENDOD.		I-30 South					
VENDOR:		, AR 72022	2.4044				
		leyer 501-786					
ITEM NO.	QTY.	r@gogreenwa PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
	~		271121101011				
1.	14	39,953.81	559,353.34	JOHN DEERE	5100M	150 Days ARO	4/1/2019
		TOTAL:	559,353.34				0.155
							CARD: 01-23
TENTATIVE AWARD BY:						DATE:	
		ITEM(S):				_	
	ΑV	/ARDED TO:				_	

Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tracto	or, 85 P	TO HP, 4WD			CONTRACT NO.:	H-19-245H	DATE OPENED: 1/23/2019
					-		
					FOB:	Pine Bluff, Barling, Russellville,	PAGE: 6 of 10
DELIVE	RY:	Within 150 d	ays after award			and Paragould, AR	
		s Tractor					
		I. Shiloh Dr					
VENDOR:		ille, AR 7270					
	Tim Ba	iley 479-442-	8284				
ITEMANO		@williamstrac					
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	14	40,687.00	569,618.00	NEW HOLLAND	POWERSTAR 100	150 Days ARO	5/1/2019
		TOTAL	F60 640 00		<u> </u>	1	1
		TOTAL:	569,618.00				CARD: 01-23
							U1-23
TENTATIVE AWARD BY:						DATE:	
ITEM(S):						_	
	AW	ARDED TO:					
		•				-	

Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tracto	or, 85 P	TO HP, 4WD			CONTRACT NO.:	H-19-245H	DATE OPENED: 1/23/2019
					-		
					_ FOB:	Pine Bluff, Barling, Russellville,	PAGE: 7 of 10
DELIVE	RY:	Within 150 da	ays after award			and Paragould, AR	
		line Truck &	Tractor				
		Grand Ave					
VENDOR:	Hot Sp	rings, AR 719	901				
		/illiams 501-6					
ITEM NO.	pwilliar	ns@cablelyn	X.COM	MANZE	MODEL	DELIVEDY	ADDITIONAL LINET BURGLIAGES
HEMINO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	14	41,649.00	583,086.00	KUBOTA	M5-111HD12-1	90 Days ARO	12/31/2019
		TOTAL:	583,086.00				
			,				CARD: 01-23
TENT	ATIVE	AWARD BY:				DATE:	
TENTATIVE AWARD BY:							
						_	
	AW	ARDED TO:				_	

Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tracto	or, 85 P	TO HP, 4WD			CONTRACT NO.:	H-19-245H	DATE OPENED: 1/23/2019
DELIVER	RY:	Within 150 da	avs after award		FOB:	Pine Bluff, Barling, Russellville, and Paragould, AR	PAGE: 8 of 10
DELIVERY: Within 150 days after award River Valley Tractor P.O. Box 16568 VENDOR: North Little Rock, AR 72231 Stephen Otwell 501-834-9999 sotwell@rivervalleytractor.com							
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	14	42,849.00	599,886.00	NEW HOLLAND	POWERSTAR 100	150 Days ARO	8/31/2019
		TOTAL:	599,886.00			•	•
							CARD: 01-23
TENTATIVE AWARD BY:						DATE:	
ITEM(S):						_	
	AW	ARDED TO:				_	

Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tracto	or, 85 P	TO HP, 4WD			CONTRACT NO.:	H-19-245H	DATE OPENED: _	1/23/2019
DELIVE		Within 150 da	avs after award		FOB:	Pine Bluff, Barling, Russellville, and Paragould, AR	PAGE:_	9 of 10
DELIVERY: Within 150 days after award Alma Tractor & Equipment, Inc. P.O. Box 2169 VENDOR: Alma, AR 72921 Tim Ridgeway 479-632-6300 tim.ridgeway@almatractor.com						•		
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT	PURCHASES
1.	14	43,999.00	615,986.00	NEW HOLLAND	POWERSTAR 100	6/23/2019	12/31/2	019
	•	TOTAL:	615,986.00				•	
							CARD:	01-23
TENTATIVE AWARD BY:						DATE:		
						_		
	AW	/ARDED TO:				_		

Form P-359 Rev. 3-10-2017

ARDOT TABULATION

Wheel Tract	or, 85 P	TO HP, 4WD)		CONTRACT NO.:	DATE OPENED: 1/23/2019	
DELIVE	RY [.]	Within 150 d	lays after award		- FOB:	Pine Bluff, Barling, Russellville, and Paragould, AR	PAGE: 10 of 10
VENDOR:	Baker 1955 E Piggett Dustin dustinr	Implement :. Main St :, AR 72454 Reece 870-5 eece@nwcab	598-3848 ble.net				
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	14				REJECTED -	- NO BID BOND	
		TOTAL:					
TEN1	ΓATIVE	AWARD BY:				DATE:	CARD: 01-23
	Δ۱۸۸	ARDED TO:				-	